Séquence de Nombres Linéaires (B)

Remplissez les nombres qui manquent de chaque nombre linéaire.

528 453 378 228 78
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
883 833 783 733 633 583 533
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
993 943 893 843 793 643 593
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
734 684 659 634 609 534 509
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
472 397 372 347 322 297 272
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
592 552 542 532
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
893 843 693 543
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
380 355 330 280 255 230 180 155

Différence commune:
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Séquence de Nombres Linéaires (B) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
753 678 603

|
|
303

|
|
153

528 453 378 303 228 78
Différence commune: -75
I I I I I I I I I I
883 833 783 733 683 633 583 533 483 433
Différence commune: -50
l l l l l l l l l l
993 943 893 843 793 743 693 643 593 543
Différence commune: -50
I I I I I I I I I I
734 709 684 659 634 609 584 559 534 509
Différence commune: -25
; ; ; ; ; ; ; ; ; ;
472 447 422 397 372 347 322 297 272 247
Différence commune: -25
I I I I I I I I I I
602 592 582 572 562 552 542 532 522 512
Différence commune: -10
; ; ; ; ; ; ; ; ; ;
893 843 793 743 693 643 593 543 493 443
Différence commune: -50
I I I I I I I I I I
380 355 330 305 280 255 230 205 180 155
Différence commune: -25
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